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Seat No.: _____         Enrolment No.______ 
   

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering Sem. – I

st
 - Examination – June/July- 2011 

Subject code: 310029 

Subject Name: Engineering Drawing 
    Date:13/07/2011                      Time: 02:30 pm – 05:00 pm 
          Total Marks: 70  

Instructions:      

1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 
4. English version is an authentic. 

 

Q.1 A pictorial view of an object is shown in fig.1. Draw to full size, its following   14 

views using ‘First Angle projection method’. 

(1) Front View – looking from direction ‘X’ 

(2) Top View 

(3) Side View 

Show dimensions using Aligned dimensioning system. 

Q.2 (a) Fig.2 shows two views of an object. Draw its isometric view.    07 

(b) Draw the following views of fig.3.        07 

(1) Rear view  (2) Bottom view 

OR 

(b) Draw a right angle only with the help of compass & trisect the same with the compass 07 

only. 

Q.3 (a) Construct a curve, when the distance of its focus from the directrix is 50mm and its 

Eccentricity is 3/2. Name the curve.        07 

(b) A line MN 90mm long inclined at 30Ă to VP. and 45ĂHP. Its end M is 22mm above 07 

HP and 32mm in front of the VP. Draw its projection & find the length of top view & 

front view.            

OR 

Q.3 (a) Draw an involute to a circle of diameter 50mm.      07 

 (b) Plan and Elevation of a line AB, 60mm, measures 54mm & 45mm respectively. End 07 

A 20mm above HP & 15mm in front of VP. Draw its projection & determine its true 

& apparent angles. 

Q.4 (a) A circular disc of 40mm diameter and negligible thickness rests on HP on its rim and 08 

makes an angle of 45Ă to HP. One of its diameter is inclined at 30Ă to VP. Draw 

its projection keeping distance of center of the disc 40mm in front of the VP. 

(b) Draw regular Heptagon of 30mm side by three circle method.    06 

OR 

Q.4      (a) Construct a parabola by Tangent method. When its base 72mm & axis 40mm.  06 

(b) A regular pentagonal plane of 30mm side rests of the HP on one of its sides such  08 

that it is inclined to the HP at 30Ă and to side on which it rests inclined at 45Ă to 

the VP. Draw its projection in first angle projection.             
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Q.5 (a) The annual balance sheet of an Engineering Company stated is as below. Represent 08 

Data by suitable chart. 

 

Sr. No. Item 

Expenses 

(Rs. In 

Lacs) 

1 Production cost 150 

2 Raw material 50 

3 Establishment 30 

4 
Organization & 

marketing 
20 

5 Interest 45 

6 Depreciation 30 

7 Profit 360 

 

(b) Enlist the instruments & materials used for tracing.      06 

OR 

Q.5       (a) Draw freehand sketches of the following.       06 

(1) Acme thread (2) Dome nut (3) Woodruf  key (4) Zigzag riveted joint. 

(b) List various methods of reproductions of drawing.      08 

    

    

5|5|5|5|-!!!! VFSlT v! DF\ V[S 5NFY^   GM lR+FtDS N[BFJ VF5[, K[P 5|YD 5|1F[56 5wWlTDF\ 5}ZF DF5DF\ GLR[GF\    s!$f 

s!f ;FD[GM N[BFJ v TLZ ‘x’ GL lNXFDFP\ 

sZf p5ZGM N[BFJP 

s#f AFH]GM N[BFJP 

5|5|5|5|-ZZZZ    sVfsVfsVfsVf VFSVlT vZ DF\ V[S 5NFY^  GF\ A[ N[BFJM NX^FJ[, K[P T[GF\ 5ZYL ;DlDTLI N[BFJ NMZMP    s_*f 

sAfsAfsAfsAf VFSVlT v# DF8[ GLR[GF N[BFJM NMZMP         s_*f 

s!f 5FK/GM N[BFJP sZf GLR[GM N[BFJP 

VYJFVYJFVYJFVYJF    

sAfsAfsAfsAf OST S\5F;GL DNNYL SF8B}6M NMZL T[GF\ +6 ;ZBF\ EFU SZMP       s_*f    

5|5|5|5|-####    sVfsVfsVfsVf JS|GL ZRGF SZM HIFZ[ 0FIZ[S8=LS;YL OMS;G]\ V\TZ 5_ DLPDLP CMI VG[ T[GL ptS[gWTF #qZ CMIP   s_*f 

       JS|G]\ GFD NX^FJMP 

sAfsAfsAfsAf )_ DLPDLPGL ,\AF.JF/L Z[BF MN UEL    ;5F8LG[ #_Ă GM B}6M VG[ VF0L ;5F8LG[ $5Ă GM B}6M    s_*f 

                 AGFJ[ K[P T[GM M K[0M VF0L ;5F8LYL ZZ DLPDLP p5Z VG[ #Z DLPDLP UEL ;5F8LGL ;FD[ K[P T[GF\ 

                 5|1F[56M NMZL T[GF\ p5ZGF\ N[BFJ VG[ ;FD[GF\ N[BFJGL ,\AF. XMWMP 

VYJFVYJFVYJFVYJF    

 5| 5| 5| 5|-####    sVfsVfsVfsVf 5_ DLPDLPGF\ jIF;JF/F JT ]̂/G]\ .gJM<I]8 NMZMP        s_*f 

 sAfsAfsAfsAf &_ DLPDLPGL ,\AF.JF/L Z[BFGF\ p5ZGF\ N[BFJ VG[ ;FD[GF\ N[BFJGL ,\AF. VG]S|D[ 5$ DLPDLP VG{    s_*f 

      $5 DLPDLP K[P T[GM A K[0M Z_ DLPDLP VF0L ;5F8LGL p5Z VG[ !5 DLPDLP UEL ;5F8LGL ;FD[ K[P  

                 T[GF\ 5|1F[56M NMZL T[GF\ ;FRF VG[ VFEF;L B}6FVM XMWMP 
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5|5|5|5|-$$$$    sVfsVfsVfsVf$_DLPDLPGF\ jIF;JF/L JT ]̂/FSFZ VU^I HF0F.JF/L 0L:S T[GL WFZ 5Z VF0L ;5F8L 5Z UE[,L   s_(f        

                 K[P T[ VF0L ;5F8L ;FY[ $5ĂGM B}6M VG[ T[GM V[S jIF; UEL ;5F8L ;FY[ #_ĂGM B}6M AGFJ[ 

      K[P T[GF\ 5|1F[56M JT ]̂/GF\ S[gWG[ $_ DLPDLP UEL ;5F8LGL ;FD[ ZFBL NMZMP       

    sAfsAfsAfsAf ‘+6 JT ]̂/GL 5wWlT’ J0[ #_ DLPDLP AFH]JF/F lGIlDT ;%TSM6 NMZMP      s_&f 

VYJFVYJFVYJFVYJF    

5|5|5|5|-$$$$    sVfsVfsVfsVf *Z DLPDLP 5FIF VG[ $_ DLPDLP WZLJF/F 5[ZFAM,FGL ZRGF 8[gHg8 5wWlT J0[ SZMP     s_&f 

sAfsAfsAfsAf #_ DLPDLP AFH]JF/L lGIlDT 5\RSM6LI ;5F8L T[GL SM. V[S AFH]V[ VF0L ;5F8L 5Z VF0L ;5F8L   s_(f 

      ;FY[ #_ĂGM B}6M VG[ pEL ;5F8L ;FY[ $5ĂGM B}6M AGFJ[ K[P 5|YD 5|1F[5DF\ T[GF\ 5|1F[56M 

      NMZMP                                                                                                         
  

5|5|5|5|-5555    sVfsVfsVfsVf V[S V[gHLGLIZL\U S]\FP GF\ JFlQF^S  ;ZJ{IF 5+SDF\ GLR[ D]HAGL DFlCTL VF5[, K[P     s_(f    

                 VF5[, DFlCTLG[ IMuI RF8^    oFZF  NX F̂JMP                                                                  

                  

VG]\P G\P DFlCTL BR ^($FP ,FB DF\) 

! pt5FNG BR ^ !5_ 

Z SFRM DF,;FDFG 5_ 

# :YF5G #_ 

$ VMU [̂GF.h[XG VG[ DFS[^8L\U Z_ 

5 jIFH $5 

& 3;FZM #_ 

* GOM #&_ 

 

sAfsAfsAfsAf 8=[;L\U DF8[GF\ ;FWGM VG[ :FFDU|LGL IFNL T{IFZ SZMP        s_&f 

VYJFVYJFVYJFVYJF    

5|5|5|5|-5555    sVfsVfsVfsVf GLR[GF\GL :JrK VG[ ;D5|DF6 D]ST C:TlR+ NMZMP        s_(f 

                 s!f V[SD[ Y|[0  sZf 0MD G8  s#f J]0 ZO  s$f hLUh[U HM.g8P       

    sAfsAfsAfsAf 0=F[>\UGF\ ZL5|M0SXGGL lJlJW ZLTMGL IFNL T{IFZ SZMP        s_&f 
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FIG-1       FIG-2 

 

FIG-3 

***END*** 


